
1

SUPPLEMENTAL INSTRUCTIONS
Torsion Spring Installation

This is a supplement to the Residential Garage Door 
Instructions (referred to as the MANUAL). It covers 
installation of torsion springs (STEP 14 of the MANUAL). 
For all other information and safety warnings concerning 
your garage door, see the MANUAL. Read the information 
in both manuals before beginning installation. 

Please read and understand these instructions completely 
before proceeding with the installation of torsion springs. 
Carefully follow these instructions to avoid personal injury 
or property damage. 

Use these instructions for torsion springs only. Your spring 
hardware should match the list shown in Table TOR-1. If you 
are missing any spring hardware, call the toll-free Consumer 
Services number found on the front cover of the MANUAL.

Safety Information

WARNING
Torsion springs can be very dangerous if they are 
improperly  installed or mishandled. Do not attempt to  
install them yourself unless 1) you have the right tools 
and reasonable mechanical aptitude or experience and 
2) you follow  these instructions very carefully.

Materials Required for Torsion Spring Installation:
	1.	Two 9/16" box wrenches
	2.	7/16" socket wrench
	3.	Two 1/2" diameter, 18" long cold rolled solid steel 

winding bars (NOTE: Winding bars are available at most  
hardware stores)

	4.	Locking pliers
	5.	Wood anchor pad

Fig. TOR-1

Wood Anchor Pad (2 x 6)
Center of Door Opening

Description Door Size Qty.

Torsion Spring

Single Car Doors 
8' – 9' W x 7' H 1

Double Car Doors 
16' W x 7' H 1 or 2

End Bearing 
Plate

Single Car Doors 
8' – 9' W x 7' H 2

Double Car Doors 
16' W x 7' H 2

Torsion Tube

Single Car Doors 
8' – 9' W x 7' H 1

Double Car Doors 
16' W x 7' H 1

Center Bearing 
Plate

Single Car Doors 
8' – 9' W x 7' H 1

Double Car Doors 
16' W x 7' H 1

Cable Drums

Single Car Doors 
8' – 9' W x 7' H 2

Double Car Doors 
16' W x 7' H 2

Nylon Center 
Bearing

Single Car Doors 
8' – 9' W x 7' H 1

Double Car Doors 
16' W x 7' H 1

5/16" x 1-5/8" 
Lag Screw

Single Car Doors 
8' – 9' W x 7' H 2

Double Car Doors 
16' W x 7' H 2

5/16" x 1-5/8" 
Lag Screw  
(Red Head)

Single Car Doors 
8' – 9' W x 7' H 2

Double Car Doors 
16' W x 7' H 2

3/8" x 3/4"  
Hex Head Bolt

Single Car Doors 
8' – 9' W x 7' H 4

Double Car Doors 
16' W x 7' H 4

3/8" Flange Nut

Single Car Doors 
8' – 9' W x 7' H 10

Double Car Doors 
16' W x 7' H 10

3/8" - 16 x 3/4" 
Carriage Bolt

Single Car Doors 
8' – 9' W x 7' H 4

Double Car Doors 
16' W x 7' H 4

3/8" x 1"  
Hex Head Bolt

Doors with one spring 2

Doors with two springs 0

3/8" x 1-5/8"  
Hex Head Bolt

Doors with one spring 0

Doors with two springs 2

Table TOR-1

FR La version française de ce supplément peut être accédée en ligne à l'adresse suivante : 
http://www.clopaydoor.com/installation-manuals.aspx

Français ES Se puede acceder a la versión en español del presente suplemento en la siguiente 
dirección: http://www.clopaydoor.com/installation-manuals.aspx

Español



22

Fi
g.

 T
O

R
-2

Lo
ck

in
g 

Pl
ie

rs

D
ou

bl
e 

Sp
rin

g 
Se

tu
p 

Sh
ow

n

Fo
r B

ot
h 

Si
ng

le
 S

pr
in

g 
an

d 
D

ou
bl

e 
Sp

rin
g 

Se
tu

ps
:

R
ed

 W
in

di
ng

 C
on

e 
Sp

rin
g 

– 
M

ou
nt

 o
n 

Le
ft 

Si
de

Bl
ac

k 
W

in
di

ng
 C

on
e 

Sp
rin

g 
– 

M
ou

nt
 o

n 
R

ig
ht

 S
id

e

3/
8"

 F
la

ng
e 

N
ut

3/
8"

 H
ex

 H
ea

d 
Bo

lt

3/
8"

 x
 3

/4
"

H
ex

 H
ea

d 
Bo

lts

3/
8"

 x
 3

/4
"

C
ar

ria
ge

 B
ol

t
(2

) P
la

ce
s

3/
8"

Fl
an

ge
 N

ut
 

So
m

e 
sp

rin
gs

 w
ill 

ha
ve

 th
e 

w
ire

 d
ia

m
et

er
, s

pr
in

g
di

am
et

er
, s

pr
in

g 
le

ng
th

, d
ire

ct
io

n 
of

 w
in

d,
 a

nd
 a

w
in

di
ng

 s
tri

pe
 s

te
nc

ile
d 

on
 th

e 
co

ils
.  

If 
th

e 
sp

rin
gs

ar
e 

st
en

ci
le

d,
 th

e 
nu

m
be

r o
f s

pr
in

g 
tu

rn
s 

ca
n 

be
co

un
te

d 
us

in
g 

th
e 

w
in

di
ng

 s
tri

pe
.  

If 
no

t, 
th

e 
nu

m
be

r
of

 s
pr

in
g 

tu
rn

s 
ca

n 
be

 c
ou

nt
ed

 b
y 

dr
aw

in
g 

a 
ch

al
k

lin
e 

on
 th

e 
sp

rin
g.

   
  

* 
In

 lo
w

 h
ea

dr
oo

m
 a

pp
lic

at
io

ns
 s

ub
tra

ct
 1

/2
 s

pr
in

g
 

tu
rn

 fr
om

 c
ha

rt.

2

Fi
g.

 T
O

R
-2

s
Lo

ck
in

g 
Pl

ie
rs

D
ou

bl
e

Sp
rin

g 
Se

tu
p 

Sh
ow

n

Fo
r B

ot
h 

Si
ng

le
 S

pr
in

g 
an

d 
D

ou
bl

e 
Sp

rin
g 

Se
tu

ps
:

R
ed

 W
in

di
ng

 C
on

e 
Sp

rin
g 

– 
M

ou
nt

 o
n 

Le
ft 

Si
de

Bl
ac

k 
W

in
di

ng
 C

on
e 

Sp
rin

g 
– 

M
ou

nt
 o

n 
R

ig
ht

 S
id

e

3/
8"

 F
la

ng
e 

N
ut

3/
8"

 H
ex

 H
ea

d 
Bo

lt

3/
8"

 x
 3

/4
"

H
ex

 H
ea

d 
Bo

lts

3/
8"

 x
 3

/4
"

C
ar

ria
ge

 B
ol

t
(2

) P
la

ce
s

3/
8"

Fl
an

ge
 N

ut
 

So
m

e 
sp

rin
gs

 w
ill 

ha
ve

 th
e 

w
ire

 d
ia

m
et

er
, s

pr
in

g
di

am
et

er
, s

pr
in

g 
le

ng
th

, d
ire

ct
io

n 
of

 w
in

d,
 a

nd
a

w
in

di
ng

 s
tri

pe
 s

te
nc

ile
d 

on
 th

e 
co

ils
.  

If 
th

e 
sp

rin
gs

ar
e 

st
en

ci
le

d,
th

e 
nu

m
be

r o
f s

pr
in

g
tu

rn
s 

ca
n 

be
co

un
te

d 
us

in
g 

th
e 

w
in

di
ng

 s
tri

pe
.  

If 
no

t, 
th

e 
nu

m
be

r
of

 s
pr

in
g 

tu
rn

s 
ca

n 
be

 c
ou

nt
ed

 b
y 

dr
aw

in
g 

a 
ch

al
k

lin
e 

on
 th

e 
sp

rin
g.

   
  

* 
In

 lo
w

 h
ea

dr
oo

m
 a

pp
lic

at
io

ns
 s

ub
tra

ct
 1

/2
 s

pr
in

g
tu

rn
 fr

om
 c

ha
rt.

N
yl

on
 C

en
te

r B
ea

rin
g

(O
ne

 S
id

e 
O

nl
y)

 T
ap

er
ed

 S
id

e 
G

oe
s

in
 S

pr
in

g 
C

on
e

C
ab

le

R
H

 E
nd

Be
ar

in
g 

Pl
at

e

R
H

D
ru

m
 (B

la
ck

)
W

in
di

ng
 C

on
e

Bl
ac

k 
R

H
Li

ne

C
en

te
r B

ea
rin

g 
Pl

at
e

Sp
rin

g 
W

ar
ni

ng
Ta

g

Warning Tag

W
oo

d 
An

ch
or

 P
ad

(S
ee

 W
ar

ni
ng

 B
el

ow
)

W
in

di
ng

 B
ar

(S
ee

 W
ar

ni
ng

 B
el

ow
)

W
in

di
ng

 C
on

e 
R

ed
 L

H
3:

00
 P

os
iti

on

En
d 

C
ab

le
 a

nd
 S

to
p 

Bu
tto

n

5/
16

" x
 1

-5
/8

"
La

g 
Sc

re
w

C
ab

le

W
in

di
ng

 C
ha

rt

D
oo

r H
ei

gh
t

6'
0"

6'
3"

6'
6"

6'
9"

7'
0"

7'
3"

7'
6"

7'
9"

8'
0"

6.
75

7.
00

7.
25

7.
50

7.
75

8.
00

8.
25

8.
50

8.
75

Sp
rin

g 
Tu

rn
s*

TO
R

SI
O

N
 S

PR
IN

G
 IN

ST
A

LL
A

TI
O

N

W
A

R
N

IN
G

A
LW

AY
S

 U
S

E
 G

O
O

D
 Q

U
A

LI
TY

, 
S

N
U

G
 F

IT
TI

N
G

, 
C

O
N

S
TA

N
T 

D
IA

M
E

TE
R

, 
S

O
LI

D
 S

TE
E

L 
W

IN
D

IN
G

 
B

A
R

S
 W

H
E

N
 W

IN
D

IN
G

 O
R

 A
D

JU
S

TI
N

G
 S

P
R

IN
G

S
. T

H
E

 U
S

E
 O

F 
A

N
Y 

O
TH

E
R

 O
B

JE
C

T 
C

A
N

 R
E

S
U

LT
 

IN
 S

E
V

E
R

E
 IN

JU
R

Y.
 W

H
E

N
 W

IN
D

IN
G

 T
H

E
 S

P
R

IN
G

S
, T

H
E

 W
IN

D
IN

G
 B

A
R

 M
U

S
T 

B
E

 IN
S

E
R

TE
D

 IN
TO

 
TH

E
 F

U
LL

 D
E

P
TH

 O
F 

TH
E

 H
O

LE
S

 IN
 T

H
E

 W
IN

D
IN

G
 C

O
N

E
. K

E
E

P 
A 

FI
R

M
 G

R
IP

 O
N

 T
H

E
 W

IN
D

IN
G

 
B

A
R

S
 A

T 
A

LL
 T

IM
E

S
. U

S
E

 A
 S

TU
R

D
Y 

LA
D

D
E

R
 A

N
D

 S
TA

N
D

 T
O

 T
H

E
 S

ID
E

 O
F 

TH
E

 W
IN

D
IN

G
 B

A
R

S
.

IF
 Y

O
U

R
 D

O
O

R
 H

A
S

 A
 T

O
R

S
IO

N
 S

P
R

IN
G

 A
S

S
E

M
B

LY
, Y

O
U

 M
U

S
T 

M
A

K
E

 S
U

R
E

 T
H

AT
 T

H
E

 W
O

O
D

 
A

N
C

H
O

R
 P

A
D

 (S
E

E
 D

R
AW

IN
G

) I
S

 F
IR

M
LY

 A
TT

A
C

H
E

D
 T

O
 T

H
E

 G
A

R
A

G
E

 W
A

LL
 A

S
 D

E
S

C
R

IB
E

D
 IN

 T
H

E
 

D
E

TA
IL

E
D

 IN
S

TR
U

C
TI

O
N

S
 O

N
 T

H
E

 N
E

X
T 

PA
G

E
. F

A
IL

U
R

E
 T

O
 S

E
C

U
R

E
LY

 A
TT

A
C

H
 T

H
E

 A
N

C
H

O
R

 P
A

D
 

C
O

U
LD

 A
LL

O
W

 T
H

E
 S

P
R

IN
G

S
 T

O
 V

IO
LE

N
TL

Y 
P

U
LL

 A
W

AY
 F

R
O

M
 T

H
E

 G
A

R
A

G
E

 W
A

LL
, A

N
D

 C
O

U
LD

 
R

E
S

U
LT

 IN
 S

E
V

E
R

E
 IN

JU
R

Y 
A

N
D

/O
R

 P
R

O
P

E
R

TY
 D

A
M

A
G

E
. I

N
 N

O
 C

A
S

E
 S

H
O

U
LD

 N
A

IL
S

 B
E

 U
S

E
D

.



3

Step 1

WARNING
It is important that the torsion spring assembly be firmly 
and securely attached to the frame of the garage.
Refer to Figure TOR-1 on page 1 for the configuration of  
2" x 6" wood jambs. Important: The wood anchor pad must 
be made of a Grade 2 or better southern yellow pine (also 
known as southern pine or yellow pine). Other acceptable 
types of wood for this application are beech, birch, hickory, 
and oak. The wood must be free of splits and cracks. Do not 
use wood labeled as spruce pine fir (or SPF). 
Each side jamb and the center anchor pad should extend 
12" above the top of the opening for 12" radius horizontal 
track and 15" above the top of the opening for 15" radius 
horizontal track. 
The wood anchor pad must be attached to the frame of the 
garage with at least four 3/8" x 4" long lag screws for wooden 
frames or four 3/8" x 4" long sleeve anchors for concrete 
frames (one at each corner). The four fasteners must be 
installed no closer than 1-1/2" from the sides and the ends 
of the anchor pad. These fasteners must be embedded into 
the frame of the garage, not the drywall or sheet rock. The 
wood anchor pad and fasteners are not supplied. Do not 
use nails. 
NOTE: The wood anchor pad can be off-center to the width 
of the opening by up to 10" in either direction.

Step 2

WARNING
Lock the door in the down position securely using door 
lock or locking pliers. This  must be done to prevent 
the door from prematurely opening which could cause 
an injury.
NOTE: You need an assistant in Step 4. If your garage 
has only one entrance, be sure you, the assistant, and the 
tools you need are inside before you lock the door. Your 
door will have either one or two torsion springs. Each 
torsion spring consists of spring coils, stationary cone, and 
a winding cone (Fig. TOR-2). Some springs will have the 
wire diameter, spring diameter, spring length, and direction 
of wind stenciled on the coils. The winding cone is color 
coded separately, either red or black (Fig. TOR-3). The color 
on the winding cone is to help identify on which side of the 
door the spring is to be used.
The black winding cone torsion springs with “LW” are used 
on the right side of the door and red winding cone torsion 
springs with “RW” are used on the left side of the door 
when viewing the door from the inside looking out. Failure 
to install the torsion springs on the correct side will cause 
your door to function improperly and could result in serious 
injury. (NOTE: If you have low headroom, these instructions 
DO NOT APPLY. Consult supplemental low headroom 
instructions.)
Slip the torsion springs onto the spring tube, the red winding 
cone torsion spring marked with “RW” on the left end, the 
nylon center bearing, center bearing plate, and the black 
winding cone torsion spring marked with “LW” on the right 
end (Fig. TOR-3). Cable drums go on next, the red drum 

on the left, black drum on the right. The set screws on the 
drums face the springs.

Step 3
Bend and break apart end bearing plates by hand at tabs 
as shown (Fig. TOR-4A). Fasten the bottom of the end 
bearing plate to the horizontal angle with (2) 3/8" x 3/4" 
long hex head bolts and hex nuts. The bottom of the end 
bearing plate is identified by two parallel rows of two slots. 
Please make sure to use the bottom two slots for 12" radius 
horizontal track, and the upper two slots for 15" radius 
horizontal track. When properly mounted, the torsion tube is 
level and straight (Fig. TOR-4).
Before installing any lag screws, it is important to drill 3/16" 
pilot holes where the lag screws are to be attached. Fasten 
the wall flange on the end bearing plate to the wood jamb 
with (1) 5/16" x 1-5/8" long lag screw. Drill 3/16" pilot holes 
where lag screws are to be installed. On 12" radius horizontal 
track, each end bearing plate should also be attached with 
3/8" x 3/4" carriage bolts and 3/8" nuts (Fig. TOR-4).

Red Winding
Cone 

Be sure at this point, you
have enough surface to
mount this bracket.  

Center
Bearing
Plate 

Nylon
Bearing 

3/8"- 16 Hex Head
Bolts and Nuts
1" Long for Single Spring
1-5/8" Long for Double Spring   

Fig. TOR-3

3/8" x 3/4" Carriage
Bolt (2) Places 

5/16" x 1-5/8"
Lag Screw

3/8" Flange Nut
3/8" x 3/4" Long
Hex Head Bolt 

Fig. TOR-4

Fig. TOR-4A

Use for 12"
Radius Track

Use for 15"
Radius Track



4

Step 4
With an assistant, lift the complete torsion spring tube 
assembly and slide the ends of the tube into the bearing 
on the end bearing plates. With the tube level, mount the 
center bearing plate to the center anchor pad using (2) 
5/16" x 1-5/8" long lag, red-coated screws.
NOTE: Red-headed fasteners must be installed for the 
attachment of center bearing plate to indicate this part will be 
under extreme tension once spring is wound (Fig. TOR - 5).
Before mounting the center bearing plate, drill (2) 3/16" pilot 
holes for the lag screws. These pilot holes must be no closer 
than 1-1/2" from the sides and ends of the wood anchor 
pad. The center bearing plate resists the considerable 
counter torque of the springs. This wood anchor pad must 
be installed to the frame of the garage as stated in Step 1.

Step 5
The cable that is attached to each bottom bracket is brought 
up between the wall and roller shafts to the cable drum. This 
cable is placed in the notch on the cable drum. Turning the 
cable drum and sliding it up tight against the end bearing 
plate removes the cable slack. Make sure the cable follows 
the grooves in the cable drum. The set screws on the cable 
drum should be tightened with a 3/8" box wrench while 
holding the cable taut. Locking pliers clamped to the torsion 
spring tube maintain tension on the cable (Fig. TOR-2). This 
procedure should be repeated on the opposite side.

Step 6
The following instructions apply to both galvanized and oil-
tempered springs. Oil-tempered springs are dark in color. 
Galvanized springs have a bright zinc (silver-colored) coating.
The stenciled description can be used as a straight line to 
indicate the number of turns on the spring(s). If there is no 
straight line present, make one with a piece of chalk. After 
inserting the two winding bars all the way into the winding 
cone, wind the springs 1/4 turn at a time in an upward 
direction as shown in Fig. TOR-5. The number of turns is 
shown in the table in Fig. TOR-2. The tail of the torsion 
spring coil points in the direction that the spring is wound 
(Fig. TOR-5A).

WARNING
NEVER use screwdrivers or other substitutes for 
winding bars! Stand to the side of bars. Be sure to 
insert the bars all the way into the hole.
TIP: The balance of the door may differ slightly depending 
on whether galvanized or oil-tempered springs are provided. 
If galvanized springs are provided, the initial balance of the 
door may appear slightly “hot” (door drifts upward) with the 
turns specified in the table in Fig. TOR-2. The spring(s) will 
self adjust and relax slightly, resulting in a balanced door 
within a few weeks of normal operation. To accelerate this 
effect at the time of installation, proceed to wind the spring 
two extra full turns past the number of turns shown in the 
table in Fig. TOR-2. Next, carefully unwind the two extra 
full turns until the spring(s) equal the number of turns in  
the table.
Secure each spring with the set screws on the winding 
cone. (Caution: Set screws should be turned from 3/4 to 
one full turn after they have made contact with the tube.) 
On doors with two torsion springs, each torsion spring 

should be wound the same number of turns. Remove the 
locking pliers.

Step 7
Unlock the door, slowly raise the door and prop it about 
halfway open.

WARNING
This is the first time the new door is being opened. If the 
tracks are not correctly aligned or the back hangers are 
not strong enough, the door may fall. Proceed slowly  
and carefully.
Check to be sure the horizontal tracks are parallel with each 
side of the door. Make sure all the lag screws are securely 
fastened. With the door about halfway open, make sure the 
rollers do not come out of the top brackets more than about 
1/2 inch. If adjustment of the rear track hanger is necessary, 
the door must be locked in the closed position because the 
weight of the door is supported by the rear hangers.
NOTE: If the torsion springs do not increase in tension as 
the 1/4 turns are added to the springs, then you probably 
have the torsion springs reversed. (See Step 2.)

Step 8
To adjust torsion spring tension, the door is locked in the 
down position. With locking pliers clamped on the torsion 
tube, winding bars are used to wind the springs tighter 
to increase tension. Tension is reduced by removing 
turns. When two springs are used, both sides should 
be adjusted the same. Adjustments should be made in  
1/4 turn increments.

WARNING
NEVER adjust center bearing plate or red-headed 
fasteners after springs are wound. Be prepared to 
handle a strong force when reducing tension on a 
torsion spring. Use winding bars only, and stand to 
the side.

Fig. TOR-5

Fig. TOR-5A

Red Head
5/16" x 1-5/8"
Lag Screw 

Use only the specified
winding bars. Never
use substitutes.   

1/2" Dia., 18" Long
Solid Cold Rolled Steel
Winding Bars

Fig. TOR-5

Fig. TOR-5A

Red Head
5/16" x 1-5/8"
Lag Screw 

Use only the specified
winding bars. Never
use substitutes.   

1/2" Dia., 18" Long
Solid Cold Rolled Steel
Winding Bars

SUP_0137170-R05-0614


